
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

4개의분수, 소수, 연산순서

− 4.1 + 5 × 5 =
4
1

4.9 + 6 × 3 ÷ 2 + 3 × =
2
1

4.5 + 4.6 − 3 × =
3
2 4 − 4 − 3 × 4.5 =

− + 3 × =
4
3

4
3

5
1

5.3 + × 5 + 15 × 3.5 ÷ 3 =
2
1

5.1 + 12 × 3.4 ÷ 3 − 4 × 3.9 = − + 4 × 2.4 =
3
2

5
1

5.9 − 12 × ÷ 4 + 4 × 3.2 =
3
1

− 3.6 × 3 + 10 × ÷ 2 =
4
3

5
1
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

4개의분수, 소수, 연산순서

− 4.1 + 5 × 5 = = 21
4
1

20
423

20
3

4.9 + 6 × 3 ÷ 2 + 3 × = = 15
2
1

5
77

5
2

4.5 + 4.6 − 3 × = = 7
3
2

10
71

10
1

4 − 4 − 3 × 4.5 = (− ) = (−13 )
2
27

2
1

− + 3 × =
4
3

4
3

5
1

5
3

5.3 + × 5 + 15 × 3.5 ÷ 3 = = 25
2
1

10
253

10
3

5.1 + 12 × 3.4 ÷ 3 − 4 × 3.9 = = 3
10
31

10
1

− + 4 × 2.4 = = 10
3
2

5
1

15
151

15
1

5.9 − 12 × ÷ 4 + 4 × 3.2 = = 17
3
1

10
177

10
7

− 3.6 × 3 + 10 × ÷ 2 = (− ) = (−9 )
4
3

5
1

20
181

20
1
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